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A—TU% IBa—R [ELFE—IL OUT1.45.7.8 IN13.15.16.18

Bz [ZLA4¥—%&| OUT IN GROSS | HDCP NET
B EBIAF J= 48 51 99 32.0 67
AR R U E = 40 40 80 11.2 68.8
Mz BF B 2 40 40 80 11.2 68.8
AT B B &w OB 46 47 93 24.0 69
5 |[H IE 1§ 40 36 76 6.4 69.6
6 | K B B 42 41 83 12.8 70.2
. |5 H 2 {# 39 41 80 0.6 70.4
8fi [ £ & IF 47 49 96 25.6 70.4
oy BE F = 48 48 96 25.6 70.4
106 | H M= 46 47 93 224 70.6
1167 |#8 & Bl & 53 53 106 35.2 70.8
1261 [/D & IF # 39 40 79 8.0 71
13 EA K ZHEF 39 40 79 8.0 71
146 [ E B X 41 46 87 16.0 71
156 [ & IE M 43 41 84 12.8 71.2
1662 |hon Bk A H 47 42 89 17.6 71.4
1Z6E e 6L A% 41 37 78 6.4 71.6
186 | E F — 41 45 86 14.4 71.6
1961 [RFE — 8k 43 43 86 14.4 71.6
2067 (fE RN 4N — 44 50 94 224 71.6
2106 |85 A = 39 36 75 3.2 71.8
220 B B M B 42 46 88 16.0 72
23 | XK B E 45 43 88 16.0 72
2460 BT H E # 39 35 74 1.6 72.4
2561 (8 JIl #0 B& 42 48 90 17.6 72.4
2661 | E R B E 87 39 76 3.2 72.8
2761 | AKFE O ##8 44 40 84 11.2 72.8
28f1 |l 5 £ th 50 50 100 27.2 72.8
20061 |/ WM — 38 43 81 8.0 73
304 [fR B A 42 47 89 16.0 13
314 [ ik == B 43 54 97 24.0 73
26 (O EE 38 40 78 48 73.2
3L | E FE 1T 40 46 86 12.8 73.2
3461 |0 BE F — 43 51 94 20.8 73.2
35461 [f5 K F — 48 46 94 20.8 73.2
6L i@ B & — 47 44 91 17.6 73.4
37 (B B E 39 41 80 6.4 73.6
Y AETE K - 39 41 80 6.4 73.6
6 | FAE HE 34 46 80 6.4 73.6
4061 [l B 44 44 88 14.4 73.6
M B 41 47 88 14.4 73.6
4240 |4& Bk H A 42 46 88 14.4 73.6
430 (3T ¥ H F 45 43 88 14.4 73.6
468 |BER OEE 50 54 104 30.4 73.6
456 |/NB§ A — 37 40 77 3.2 73.8
466 |E R & 7| 42 43 85 11.2 73.8
A1 [T & B F 51 50 101 27.2 73.8
4841 [#F Bt B 36 38 74 0.0 74
96 (KB FH 46 44 90 16.0 74
506 |B F ¥ BH 39 40 79 48 74.2
5106 |fFF K #B = 40 44 84 9.6 74.4
526 [l F 4 — 40 44 84 9.6 74.4
53 |1 S 40 44 84 9.6 74.4
541 [l &R F| B 49 43 92 17.6 74.4




55 |& & & T 50 42 92 17.6 74.4
56 [& HBH & 51 49 100 25.6 74.4
57 |& B #E 46 54 100 25.6 74.4
58(i BB B % 41 40 81 6.4 74.6
5961 [¢ % B 45 44 89 14.4 74.6
606z |+ & & M 41 48 89 14.4 74.6
6147 [lhh & = 47 50 97 22.4 74.6
6201 |FF 7 & = 41 45 86 L 74.8
636z [ H & 46 48 94 19.2 74.8
641 (& O B & 45 46 91 16.0 75
6561 |#E K #2 A 50 49 99 24.0 75
666 | ¥ B A 43 45 88 12.8 75.2
6742 | B Bl = 44 44 88 12.8 75.2
68f (B H & 2 50 46 96 20.8 75.2
69f1 [/MEEF BB 50 54 104 28.8 75.2
706 |&X Bl ¥ F 57 55 112 36.8 75.2
76 |RE 2% 43 42 85 9.6 75.4
7261 |5+ © H 41 41 82 6.4 75.6
7346 |ED $k FE B 42 48 90 14.4 75.6
1A B B & 48 50 98 22.4 75.6
756 (B RE X E 48 50 98 22.4 75.6
766 B H # T 55 43 98 224 75.6
7761 (X H B8 44 43 87 11.2 75.8
784a |@k v IF BH 43 44 87 11.2 75.8
796 MM &KX 12 45 50 95 19.2 75.8
AT =T 47 56 103 27.2 75.8
81 [k &’ X 41 40 81 48 76.2
824 | H E i 45 44 89 12.8 76.2
83 | K H ZEHK 42 44 86 9.6 76.4
844 | H B 48 46 94 17.6 76.4
850c |H &£ 7 Bh 46 48 94 17.6 76.4
86fi |h kX & 52 50 102 25.6 76.4
876 |75 Bk 1§ &k 40 43 83 6.4 76.6
88 |M E 8§ — 47 44 91 14.4 76.6
899G 8B ME 44 47 91 14.4 76.6
904 [E [’ 3 5A 47 44 91 14.4 76.6
o1fi [l gy - £ 49 42 91 14.4 76.6
921 e H =&|H — 50 57 107 30.4 76.6
93 [k B & 44 44 88 11.2 76.8
9 |KH EBEE 45 43 88 11.2 76.8
95 |k & BH X% 45 51 96 19.2 76.8
96 [ H 1§ 48 48 96 19.2 76.8
971 E HF B R 42 43 85 8.0 77
98z [ # 7 52 57 109 32.0 77
9off |ILEH B — 40 42 82 48 112
100 [ H = 42 45 87 9.6 77.4
10162 |BE 8 E 42 45 87 9.6 77.4
1026 (& Bk # 1T 41 46 87 9.6 77.4
10361 (B R #& = 47 48 95 17.6 77.4
1046 [HIE 7w ¥ 57 54 111 33.6 77.4
10561 [3h Bk 1T B 45 47 92 14.4 77.6
1066 [fE =2 & & 51 57 108 30.4 77.6
1076 | K g 1 A 40 41 81 3.2 77.8
10862 st A E 43 46 89 11.2 77.8
109044 |[F H E & 47 50 97 19.2 77.8
11067 |FF15F EHih 53 60 113 35.2 77.8
111467 [ 11 BR 43 43 86 8.0 78




M2 (P H E 52 50 102 240 78
1136 "MNEI FsA 48 54 102 240 78
114461 B35 B X 42 41 83 4.8 78.2
115462 (B H F — 43 40 83 48 78.2
11667 (B R B S 45 46 91 12.8 78.2
117461 |78 & & = 45 46 91 12.8 78.2
1186 |+ & B # 44 44 88 9.6 78.4
194 [/ th ¥ 49 47 06 17.6 78.4
1200 (B[R ;| — 51 45 96 17.6 78.4
1216 (ILA ¥ B 47 46 93 14.4 78.6
12261 |/ M B 51 50 101 224 78.6
12307 |1 B & 50 51 101 224 78.6
12467 [F Il £ 49 52 101 22.4 78.6
12501 |28 [-d 40 42 82 3.2 78.8
1260 i 0 & 41 49 90 11.2 78.8
1274 [B 8 3 51 55 106 CYE- 78.8
1286 | K ¥ % — 41 46 87 8.0 79
129457 |58 H Bt A 46 49 95 16.0 79
13047 |5% R #0 & 46 46 92 12.8 79.2
1316 | K & A 38 43 81 1.6 79.4
13247 i H#F — X 42 47 89 9.6 79.4
133y [E &5 R 48 51 99 19.2 79.8
1344 (B8 B’ K 45 51 96 16.0 80
1354 | & A1 A 45 48 93 12.8 80.2
1366 |28 2 B B 49 49 98 17.6 80.4
1374 P {8 B§ 49 49 98 17.6 80.4
13841 |E A IF = 39 48 87 6.4 80.6
13967 |'= ¥ F B7 45 50 95 14.4 80.6
140 |5 35 B +F 57 63 120 38.4 81.6
141462 |ch Il &£ X% 49 52 101 19.2 81.8
1421 |2 B & 44 46 90 8.0 82
14361 [#k = F 5h 46 57 103 20.8 82.2
14440 | By F 1T 40 44 84 1.6 82.4
1454 (¥ X H 62 62 124 416 82.4
14660 |[E R = E 48 49 97 14.4 82.6
14761 [fER/ K B+ 51 56 107 24.0 83
1486z |#%  #1 X 44 46 90 6.4 83.6
1494 1L H & #h 48 60 108 24.0 84
15062 (5F A B & 47 47 94 9.6 84.4
151467 |8 K & 48 54 102 17.6 84.4
15267 | H — 1= 54 48 102 17.6 84.4
15367 | B %X F 54 53 107 22.4 84.6
154467 SR Bk IF & 51 67 118 32.0 86
15562 [l R = 44 55 99 12.8 86.2
1560 [fF Bk B A 58 60 118 30.4 87.6
157 B ME 53 53 106 17.6 88.4
15861 (T IR M E 46 57 103 14.4 88.6
1596 |#& & IE — 55 58 113 24.0 89
1606 (K & F K 51 64 115 25.6 89.4
16147 |Z=5dE itk 57 66 123 33.6 89.4




A= Ha—R ELF—IL OUT 25.7.8 IN10.14.16.17.18

Bz | FL4¥—% | OUT IN GROSS [ HDCP NET

B2 B IRE 2= 42 42 84 19.2 64.8
2B B B E B 44 47 91 224 68.6
Mz [ B X 39 41 80 11.2 68.8
A Gk & EH 36 41 77 8.0 69
56 |A+E ETBWF 39 40 79 9.6 69.4
6 |H B 1E B 42 44 86 16.0 70
ML K B — 42 41 83 123 70.2
8t |2 # | F 43 50 93 22.4 70.6
ofu || 35 % 47 46 93 224 70.6
106 (A8 & ZE Bf 42 51 93 224 70.6
1M (B 8 B F 43 47 90 19.2 70.8
1268 |3 JIl T & 39 40 79 8.0 71
1362 (T X H® # 40 44 84 12.8 71.2
1465 [E& I B # 47 45 92 20.8 712
156 |l F # F 37 44 81 9.6 71.4
166 |h0 Bk H — 39 39 78 6.4 71.6
1760 (88 ) 5 i 40 35 75 53 71.8
186 (M A H & 37 38 75 3.2 71.8
196 15K % ¥ =+ 47 44 91 19.2 71.8
2006 [ B R — 47 44 91 19.2 71.8
2161 ([ # B F 44 47 91 19.2 71.8
2261 |+ H & & 38 42 80 8.0 72
236 |B] BB FEF {E 41 39 80 8.0 72
2461 [/ W BE E 41 41 82 9.6 72.4
256 |f%F H F # 43 44 87 14.4 72.6
261 e b 40 36 76 3.2 72.8
276 (&8 8 £ — 39 39 78 48 73.2
2861 | B | 1T 49 45 94 20.8 73.5
20f1 (B = B dh 37 38 75 1.6 73.4
04 [ B H K 42 41 83 9.6 73.4
316 [ B E & 40 40 80 6.4 73.6
3241 (A # B IF 43 45 88 14.4 73.6
336 |[EfE £ F 43 45 88 14.4 73.6
3441 |k 8 Bh — 51 45 96 22.4 73.6
356 [AZ2M WFH 44 41 85 11.2 73.8
3667 (kR H B 46 47 93 19.2 73.8
37 H b K K 41 49 90 16.0 74
8L K T 2 49 49 98 240 74
3962 [ch JIl F F 44 43 87 12.8 74.2
406 | B - % 40 44 84 9.6 74.4
AL R B R X 41 43 84 9.6 74.4
260 [ X 7 B 43 49 92 17.6 74.4
43t (28 B B % 41 40 81 6.4 74.6
4463 (5 H @ 2 42 47 89 14.4 74.6
4501 [k Bk (& 44 41 85 9.6 75.4
460 |H B HE — 44 49 93 17.6 75.4
4760 |8 H = & 47 46 93 17.6 75.4
481 |4k H ¥ 43 47 90 14.4 75.6
4941 | B I & 47 43 90 14.4 75.6
500 |3 K = 47 43 90 14.4 75.6
51 [ AGRH HE 42 37 79 3.2 75.8
520 |2 B HE E 43 44 87 1R 75.8
53t [+ H FEF 47 53 100 24.0 76
541 |H B # F 46 51 97 20.8 76.2




5561 |/ ¥ IF & 43 47 90 12.8 712
5661 [T X = ¥ 38 41 79 1.6 77.4
5741 (8 W B dh 46 41 87 9.6 77.4
58 | EEF 47 48 95 17.6 77.4
5901 |F%F B i = 47 45 92 14.4 77.6
60fi |ith HH F0 &8 44 42 86 8.0 78
616 [ F ¥ A 40 42 82 3.2 78.8
621 |FA & K — 52 54 106 27.2 78.8
63 (= B # X 46 49 95 16.0 79
64461 [f H I iT 56 55 111 32.0 79
6561 (8 B & F 45 49 94 14.4 79.6
66 | K & =F|E & 44 43 87 6.4 80.6
6746 [+ H X % 43 41 84 T 80.8
686 [/ B F = 49 59 108 272 80.8
69fsf I H &8 — 48 46 94 12.8 81.2
706 [ B B # 52 41 93 1.2 81.8
M6 | E/) 26 43 41 84 1.6 82.4
260 | H 8B = 42 49 01 6.4 84.6
7367 |hn Bk | F 53 57 110 224 87.6




